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Výsledky turnaje

Dětský turnaj čtyřher II. - Mixy Borci Opava 2. listopadu 2013

1.Chumchalová Tereza X a Chumchal Martin X, 3:1 (57:41) 10 b.
(1) Kahánková Kateřina X a Hlavica Michal X 6:0 (2:0/15:7 | 15:10); (2) Pániková Melánie X a
Chalupa Adam X 4:2 (1:1/15:9 | 12:15);

2.Solnická Martina X a Musil David X, 3:1 (55:39) 8 b.
(1) Hofmanová Klára X a Matula Jakub X 3:3 (1:1/15:9 | 10:15); (2) Moravcová Michaela X a
Kubný Jan X 5:1 (2:0/15:4 | 15:11);

3.Hromadová Alexandra X a Wanke Karel X, 3:1 (59:46) 8 b.
(1) Moravcová Michaela X a Kubný Jan X 4:2 (1:1/15:8 | 14:15); (2) Špačková Michaela X a
Kolář Vojtěch X 4:2 (2:0/15:12 | 15:11);

4.Pániková Melánie X a Chalupa Adam X, 3:1 (54:47) 7 b.
(1) Dostálová Klára a Němec Robin X 5:1 (2:0/15:11 | 15:9); (2) Chumchalová Tereza X a
Chumchal Martin X 2:4 (1:1/9:15 | 15:12);

5.Dostálová Klára a Němec Robin X, 2:2 (50:45) 7 b.
(1) Pániková Melánie X a Chalupa Adam X 1:5 (0:2/11:15 | 9:15); (2) Kahánková Kateřina X a
Hlavica Michal X 6:0 (2:0/15:9 | 15:6);

6.Hofmanová Klára X a Matula Jakub X, 2:2 (46:48) 6 b.
(1) Solnická Martina X a Musil David X 3:3 (1:1/9:15 | 15:10); (2) Grusmanová Anna X a
Venhuda Matyáš X 3:3 (1:1/7:15 | 15:8);

7.Špačková Michaela X a Kolář Vojtěch X, 2:2 (53:57) 6 b.
(1) Grusmanová Anna X a Venhuda Matyáš X 4:2 (2:0/15:13 | 15:14); (2) Hromadová
Alexandra X a Wanke Karel X 2:4 (0:2/12:15 | 11:15);

8.Grusmanová Anna X a Venhuda Matyáš X, 1:3 (50:52) 5 b.
(1) Špačková Michaela X a Kolář Vojtěch X 2:4 (0:2/13:15 | 14:15); (2) Hofmanová Klára X a
Matula Jakub X 3:3 (1:1/15:7 | 8:15);

9.Moravcová Michaela X a Kubný Jan X, 1:3 (38:59) 3 b.
(1) Hromadová Alexandra X a Wanke Karel X 2:4 (1:1/8:15 | 15:14); (2) Solnická Martina X a
Musil David X 1:5 (0:2/4:15 | 11:15);

10.Kahánková Kateřina X a Hlavica Michal X, 0:4 (32:60) 0 b.
(1) Chumchalová Tereza X a Chumchal Martin X 0:6 (0:2/7:15 | 10:15); (2) Dostálová Klára a
Němec Robin X 0:6 (0:2/9:15 | 6:15);


